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Problem 9.5 _________   

 

If passed by value, there is no mechanism for the calls to swap() to affect the values stored in the 

variables in main() since swap() doesn’t return any value (even if it did, it is not used in main()). 

If passed by reference, the final call passes the address of value and list[1] and subsequent changes to 

value within swap() do not affect the addresses passed. 

If passed by value-result, the results are potentially ambiguous depending on whether the address of 

list[value] is resolved at call-time only or at both call-time and return-time. Call-time only makes the 

most sense, in which case no alias is formed and the results are the same as pass-by-reference. 

 part (a) part (b) part (c) 

after execution of value list[] value list[] value list[] 

int value=2, list[5]={1,3,5,7,9} 2 {1,3,5,7,9} 2 {1,3,5,7,9} 2 {1,3,5,7,9} 

swap(value, list[0]); 2 {1,3,5,7,9} 1 {2,3,5,7,9} 1 {2,3,5,7,9} 

swap(list[0], list[1]); 2 {1,3,5,7,9} 1 {3,2,5,7,9} 1 {3,2,5,7,9} 

swap(value, list[value]); 2 {1,3,5,7,9} 2 {3,1,5,7,9} 2 {3,1,5,7,9} 

 


